Subject: I'll have what ron's smoking:)
Posted by Sam P. on Wed, 08 Jan 2003 19:33:22 GMT

View Forum Message <> Reply to Message

OK, time to clarify."since a 8 ohm 1.6khz crossover should equal a 800 hz crossover for 16 ohms
(and it should), "Not quite. Using 2nd order BW's for example, the 1.6kHz/8 ohm xover requires
8.8uF and a 1.12mH choke. An 800Hz/16 ohm xover requires 8.8uF cap, YES, BUT the choke
needed is 4.5mH...A google search for "crossover calculator" will turn up the web site for "Select
Products” on-line applet. Sam

Page 1 of 1 ---- Generated from Audi oRoundTabl e. com


https://audioroundtable.com/forum/index.php?t=usrinfo&id=1310
https://audioroundtable.com/forum/index.php?t=rview&th=7959&goto=39791#msg_39791
https://audioroundtable.com/forum/index.php?t=post&reply_to=39791
https://audioroundtable.com/forum/index.php

